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Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. Minamata disease is associated with
(A) Air pollution
(B) Land pollution
(C) Water pollution

(D) Noise pollution

2. The term ‘cryosphere’ refers to the areas
of the earth covered by

(A) Metamorphic rocks
(B) Intrusive igneous rocks
(C) Gully and Ravines

(D) Water in frozen form

3. Which of the following is an archipelago ?
(A) Cape Cod
(B) Cape Horn
(C) Cape Hatteras

(D) Cape Verde

K-0815 (3)

4. |dentify the correct hiearchical order of
salts in sea water
(A) Magnesium chloride — sodium
sulphate — calcium chloride —
potassium chloride

(B) Sodium sulphate — potassium
chloride — calcium chloride —
magnesium chloride

(C) Calcium chloride — magnesium
chloride — potassium chloride —
sodium sulphate

(D) Potassium chloride — magnesium
chloride — sodium sulphate —
calcium chloride

5. Consider the given statements and
identify the correct answer using the
codes given below :

1) Green plants are called saprotrophs.

2) Forest fires lead to secondary
ecological succession.

3) Stages in the ecological succession
are called seral stage.

Codes :
(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct
(D) Only 2 is correct
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0O

6. Bev(A): I BB T B WD, TeaY
VAT WY BRAODINTD), FIRF e
ROT FTORMIZE,
5303 (R) : (Fowoee) abTEIIORE) eeeane
QONTFOT AN BB TIOBRT TN
FOOIONONY FWINT IR oWOTTTY,
G008 BREYS.
Tode3ned :

(A) (A) RR(R) B0, e (R) 2w (A) R
S00INE VRO

(B) (A) =33 (R) 3o, =T3(R) 2t (A)
ROOINT QBT 9
(C) (A) =5, (R) BR),

(D) (A) 2=, (R) 50

7. 38 3N ée@%n’@;’d& TONEIR, WO i@é&
FoBeBNY BTN FOOIRNT emgdqu
ROTIEX

1) TR0 BRI 35,08 WBRNE WEEE

N8Iy, WIWW DOV Q0o
Geleveluplperciag

2) TR %@ﬁ#@ BRRAR Beadnd Tad
WBTEE TSNS,

3) TR LITFTW Teadn? SRR ©08TR)
BERNTO WIEE DOV TBRNTTT.

Hode3risd :
(A) 1,230 (B) 1308330

(C) 102270
Paper Il

(D) 2 =¥y3 Ro

O,

Total Number of Pages : 32

8. 33 IINI @e@%ﬁ%ﬁ&q TONEIR, TONR %@%

ROFEINY TN FOOIRT LVBTBIY,
aSleSEEIR

BReRD® S TDOINMID DONBIOD TFOT

1) Q0F° - FRERKT [T 0edaP
GpleveupelafcioNenvia

2) AT - ST T eroo,—-’?am)oda oedodd
230030M0E2 EREORZTT

3) BF® - JoRWTEIOOTT 0edadd
23000007062 ERCOROIT.

odeaned
(A) 1,2 383 "o
(B) 1 =22 30
(C) 2 =¥y3 Ro

(D) 1 =¥3 "o

9. 85 IYNTRNTY_ 0IRTTO dmé 33T,
5295%3 @@dg’g{ 913030053 %@mﬁd 2

(A) o ERT”
(B) 3007,
(C) 3o

(D) &reds
K-0815



K-0815

6. Assertion (A) : The flowering, fruiting
and ripening of some plant species are
called phenophases.

Reasoning (R) : Phenology is the study
of periodic biological phenomena and
their relationship to weather and climate.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation for (A)

(B) Both (A) and (R) are true but (R)
is not the correct explanation
for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

7. Consider the following statements and
identify the correct answer using the
codes given below :

1) The rate of change of pressure over
distance is called pressure gradient.

2) The isobars are lines joining places
of equal pressure.

3) When isobars are spaced apart the
pressure gradient is steeper.

Codes :
A) 1,2 and 3 are correct
B
C

D

1 and 3 are correct

(A)
(B)
(C) 1 and 2 are correct
(D)

2 and 3 are correct

O,
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8. Consider the following statements and
identify the correct answer using the

codes given below :

As per the Koeppen’s classification of

climate
1) Af denotes equatorial type of climate.

2) Cf denotes humid sub tropic type of

climate.

3) Df deonotes Mediterranean type of

climate.
Codes :
(A) 1,2 and 3 are correct
(B) 1 and 2 are correct
(C) 2 and 3 are correct

(D) 1 and 3 are correct

9. Which of the following is a leading iron

ore mining area of Russia ?
(A) Labrador
(B) Kurusk
(C) Kiruna

(D) Lorraine
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10. Which of the following iron ore mines is
located beyond Arctic circle ?

A) Kiruna

B

C

D

Lorraine

(A)
(B)
(C) Labrador
(D)

Kurusk
11. Zambezi river in Africa has the
hydroelectric project viz
(A) Hoover dam
(B) Kughyshev
(C) Kariba
(D) Aswan
12. The 2011 census of India was conducted
in how many phases ?
(A) One
(B) Two
(C) Three
(D) Four

13. Koolgardi and Kalgoordi are the mining
areas of

(A) Peru
(B) Argentina
(C) Russia

(D) Australia

K-0815
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14. Which of the following pair of countries
are major producers of soft wood forest
products in the world ?

(A) Philippines and Malaysia
(B) Japan and Borneo
(C) India and Ethiopia

(D) Canada and Sweden

15. Match List | with List Il and identify the
correct answer using the codes given

below :
List—1 List =1l

(Forest Product) (Producing Region)

[) Tanning 1) India
materials

Il) Lac 2) Portugal
[I) Terpentine 3) Malaya
IV) Cork 4) USA

5) France
Codes :
I m v

A 3 2 5 4

Paper Il
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16. The literacy rate of India, according to
2011 census is

(A) 77.04
(C) 75.04

(B) 74.04
(D) 76.04

17. Match List | with List Il and identify the
correct answer using the codes given

below :
List—1 List —1I
(Location) (Mineral)
[) Ankaleshwar 1) Coal
[1) Noamundi 2) Copper
lIl) Karanpura 3) Oil
IV) Khetri 4) Manganese
5) Iron ore
Codes :
I o m v
A) 2 1 4 3
B 1t 3 2 5
¢ 3 5 1 2
(D) 5 2 3 4

18. Match List | with List Il and identify the
correct answer using the codes given

below :
List-1 List —1I
(States) (Cement Industrial
Centres)
[) Andhra 1) Sikka
Pradesh
Il) Karnataka 2) Ranchi
) Jharkhand 3) Bhadravati
IV) Gujarat 4) Kurnool
Codes :
I nm 1
A 1 3 2 4
B 1 4 2 3
@ 4 8 2 1
Dby 4 1 2 3
K-0815
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Concept of ice age was profounded by
(A) Davis (B) Wegener

(C) Agassiz (D) Hutton

The largest urban agglomeration in the
country according to 2011 census is

(A) Greater Mumbai (B) Delhi

(C) Kolkata (D) Bengaluru

Systems approach to the study of

landforms was explained by
(A) Powell (B) Chorley

(C) Dutton (D) Penck

Consider the following statements and
identify the correct answer using the
codes given below :

1) Convection current theory is related
to plate tectonics.

2) Thermal cycles are associated with
radio-active elements.

3) Isostacy explains the movement of
continental plates.

4) Continental drift theory explains the
cycle of erosion.

Codes :
(A) 1 and 4 are correct
(B) 3and 1 are correct
(C) 4 and 2 are correct
(D) 1 and 2 are correct
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23. Consider the following statements and
identify the correct answer using the
codes given below :

1) A census town should have a
minimum population of 10000.

2) The Census Commission defines a
metropolitan area as one having a
population of over 4 million.

3) A city with a population exceeding 10
million becomes a megacity.

Codes :
(A) 1 and 2 are correct
(B) 2 and 3 are correct
(C) 1 and 3 are correct

(D) Only 1 is correct

24. Consider the following statements and
identify the correct answer using the
codes given below :

1) Roche Moutonne is a feature of
glacial erosion.

2) It has a smooth surface resembling a
spoon.

3) It results due to both abrasion and
plucking action.

Codes :

A) Only 1 is correct
B) Only 3 is correct
C)

D)

1 and 2 are correct

(
(
(
(D) 1 and 3 are correct

K-0815

Total Number of Pages : 32

25. |dentify the correct chronological
sequence of the following concepts in
Geomorphology

(A) Continental drift — sea floor
spreading — cycle of erosion —
convection current hypothesis

(B) Convection current hypothesis —
continental drift — sea floor
spreading — cycle of erosion

(C) Sea floor spreading — continental
drift — convection current
hypothesis — cycle of erosion

(D) Cycle of erosion — continental drift —
convection current hypothesis — sea
floor spreading

26. Match List | with List Il and identify the
correct answer using the codes given

below :
List—1 List —1I
(Terms) (Authors)
l) Free Face 1) Hack
Il) Bosche 2) Davis
lll) Scarp 3) Penck
V) Dynamic 4) L.C. King
Equilibrium 5) Wood
Codes :
I m v
A) 2 1 3 4
B 5 3 4 1
c 1 5 2 38
D) 4 2 1 5
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27. Assertion (A) : Differential expansion
and contraction of rock minerals lead to
granular weathering.

Reasoning (R) : Rocks have different
coloured minerals.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

28. Assertion (A) : A settlement in India
cannot be classified as urban only on the
basis of its population size.

Reason (R) : The administrative status
of the settlement is also a significant
criterion.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation

(C) (A)is correct, but (R) is false

(D) (A) is false, but (R) is true
K-0815
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29. Inthe context of the two statements given
below, which one is correct ?

Assertion (A) : Himalayas are the tallest
young fold mountains in the world.

Reason (R) : Tethys sea was a
geosyncline.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation

(B) Both (A) and (R) are true, but (R) is
not the correct explanation

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

30. Age structure of population is best
represented by

(A) Multiple bars
(B) Polygraphs
(C) Pyramids

(D) Triangular graphs

31. Who advocated the systems view of
planning ?

(A) Aurthur Geddes
(B) F.S. Chapin
(C) George Chadwick

(D) Lewis Mumford
Paper Il



32.

33.

34.

Paper Il

2IRTEE BRTVRHOD Tordod 8 03RS0
B3 3R ROTT, DTSR OWED.

(A) Ted8 drews

(B) &gonecd cdnexd

(C) oomeouE cdnewd

(D) Bormode =oe3p odpews

B3 SN ée@%n’@;’d& TONEIR, WO i@é&
RoFe3nLow OINT emgdds% O3S :

1) @08 3R LRF O BROOT BTEIN
%@eoﬁo TEEOD uﬁ%é@ﬁ m@ﬁ%ﬂﬁ.
2) ©3 08 3RR LB TROVT BTSN
%’?Da};md @a’mﬁeﬁés’ds@ a’oa’g BRI
Sinplevsin e)g sar{%?sad BROD.
3) @%03 TRIV) @@%@é TROOT BTeSNPE
ToRORIG D 808 LINTZS,
DoTC3NLD
(A) 1 &% =0
(B) 2 =»g %0
(C) 102270
(D) 225233 70

B3 SN ée@%n’@;’d& TONEIR, WO i@é&

R0BeBNY0T ROOINT VBT TR :

1) 2 30T 3w BTN, @%03
z&@ TEeTBe z)’ssgado.

2) @808 g, BEITR), cdptkm BTSN
é’eséojoeﬁmob@”ﬁoé $HRTT QTR0

3) we o8 ?,8%; TWEIR) =, WoNF
NESesSoddm) BRODTZS.
TodeIned :

(A) 1322 50
(C) 1 =¥y3 Ro

(B) 2 %23 50
(D) 1 373 o

D,

Total Number of Pages : 32

35. 33 IINS @e@én’%ﬁd&q TONEIR, WO a@@%

RoBeBNY FH0NRT FOCINT YVZTHTY

alob

Tewd (A) : drexy TTeINY NeTesd

QT T OROWIN @C)’F)’Jq SEReE] ?,36; og,w

BT STBRODN 39, CoRRLIeBD.

5389 (R) @ @08 z§§ e @dea’ﬁ%ﬁd&

ROPTON RITIERLTITO.

RoFEINTD :

(A) (A) S3) (R) B0, 3 (R) 2w
S00INE VFTR

(B) (A) 3 (R) 7o, =3 (R) @
FOOINT DT ©Q).

(C) (A) Ro,=T3(R) 3,

(D) (A) 38, =33 (R) =0

36. B3 IINTRNSE_ CIR)TO @%oé z&ﬁpom’
@%03 emc;;ﬁoja QRRT ST 3SNG €903T3
gdawcé @eséo:b?bq TEAQRIZT ?

(A) 2 -Te - MommR-Te - Q23e*
g B - oI

(B) 2°52,3te - mosmn-Te - F°-Te -
NNl %6;539

(C) mos-Te - F° -Be - Qs %@ds"
- T

(D) Qe3er AER° - Q0w -
&)
@5:-0”@ - O R-0e

K-0815



32. Indian First Five Year Plan gave more
emphasis on
(A) Regional plan
(B) Sectoral plan
(C) State level plan
(D) Panchayat level plan

33. Consider the following statements and
identify the correct answer using the
codes given below :

1) The least developed regions are
mostly in the third world countries.

2) The least developed regions are
characterized by low income and
limited industrialization.

3) In the less developed regions, the
infrastructure is excellent.

Codes :
(A) 1 only is correct
(B) 2 only is correct
(C) 1 and 2 are correct
(D)

D) 2 and 3 are correct

34. Consider the following statement and
identify the correct answer using the
codes given below :

1) A micro region is the smallest of all
planning regions.

2) A micro region lies at the lowest level
of the hierarchy of planning regions.

3) A micro region has a natural boundary.
Codes :
(A) 1and 2 are correct

(B)
(C) 1 and 3 are correct
D)

(
K-0815

2 and 3 are correct

1 only is correct
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35. Inthe context of the two statements given
below, which one is correct ?

Assertion (A) : The delineation of
planning regions must always begin with
micro region.

Reason (R) : Micro regions are easily
identifiable.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation

(B) Both (A) and (R) are true but (R) is
not the correct explanation

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

36. Identify the correct sequence of EMR
from the shortest to longest wavelength.

(A) X-ray — Gamma ray — Visible
spectrum — Infrared

(B) Infrared — Gamma ray — X-ray —
Visible spectrum

(C) Gamma ray — X-ray — Visible
spectrum — Infrared

(D) Visible spectrum — Infrared — X-ray —
Gamma ray
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37. Consider the following statements and
identify the correct answer from the
codes given :

1) Australian continent to begin with
had aborigins before the arrival of

white men.

2) Some islands of Newzealand had
Mavoris who are Mangoloid by

origin.

3) Fiji Islands have more white men
than non-whites.

Codes :

(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct
(D) Only 3 is correct
38. Under American School of Geography

who has given the concept of “civilizing
rails, primate city and central places” ?

(A) Isaiah Bowman
(B) Mark Jafferson
(C) Albert P. Bringham

(D) Carl Ortwin Sauer
K-0815

Total Number of Pages : 32

39. Which settlement pattern predominates
in rural areas globally ?

(A) Nucleated
(B) Dispersed
(C) Dense

(D) Street villages

40. The repetivity of a remote sensing
satellite is called

(A) Spatial resolution
(B) Temporal resolution
(C) Radiometric resolution

(D) Spectral resolution

41. Consider the following statements about
arthophotos and select the correct
answer using the codes given below :

1) Orthophotos have relief distortions
like aerial photographs.

2) They are also called as photomaps.

3) Differential rectification process is
used in generation of orthophotos.

Codes :
A) 1,2 and 3 are correct
B
C

D

2 and 3 are correct

(A)
(B)
(C) 1 and 3 are correct
(D) 1 and 2 are correct
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42. To know about India Mahmud Gazhavi
invited the famous Arab scholar and he

was

(A) Al-Idrisi
(B) Al-Masudi
(C) Al-Biruni

(D) Ibn-Hawqual

43. Inthe context of the two statements given

below which one is correct ?

Assertion (A) : The city grows outwards
in the form of five concentric zones

according to E. Burgess.

Reason (R) : Outward growth of the city
implies that there are no physical

barriers.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation

(B) Both (A) and (R) are true but (R) is
not the correct explanation

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

K-0815
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44. Therivers of central Asia Amu-Darya and
Sayur - Darya were known in ancient
India respectively as

A) Sita and Yarkand
B
C

D

Suvamksu and Bhadra

(A)
(B)
(C) Bakshu and Potsu
(D)

Bhadra and Bakshu

45. Which one of the following systems has
the most mineralised rocks in India ?

(A) Dharwar system
(B) Cuddapah system
(C) Gondwana system

(D) Vindyan system

46. Consider the following statements and
identify the correct answer from the
codes given :

1) China is the largest exporter of steel
in the world.

2) Japan is the largest importer of steel
in the world.

3) India ranks 6" in steel exports in the
world.

Codes :
A) 1 and 2 are correct
B

C

1 and 3 are correct

(A)
(B)
(C) 2 and 3 are correct
(D) Only 3is correct
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47. Which one of the following is not having
regional remote sensing service centre ?

(A) Dehradun
(B) Kolkata
(C) Kharagpur

(D) Nagpur

48. Which one of the following states in India
recorded the lowest population growth
rate during 1991-2001 ?

(A) Goa
(B) Andhra Pradesh
(C) Nagaland

(D) Kerala

49. Which one of the following is the largest
supplier of natural rubber in India ?

(A) Andhra Pradesh
(B) Karnataka
(C) Kerala

(D) Assam

K-0815

@)

Total Number of Pages : 32

50. Consider the following statements and
identify the correct answer using the
codes given below :

1) The Nagarjunasagar Hydro-electric
Project is located in Tamil Nadu.

2) Sivanasamudra Hydro-electric
Project is located in Karnataka.

3) Idukki Hydro-electric Project is
located in Kerala.

4) Periyar Hydro-electric Project is
located in Andhra Pradesh.

Codes :
(A) 1 and 2 are correct
(B) 3and 1 are correct
(C) 4 and 3 are correct

(D) 2 and 3 are correct

51. Identify the correct North to South
sequence of the given major ports along
the East coast of India.

(A) Paradeep — Ennore —
Vishakhapatnam — Tuticorin

(B) Ennore — Paradeep —
Vishakhapatnam — Tuticorin

(C) Paradeep — Vishakhapatnam —
Ennore — Tuticorin

(D) Vishakhapatnam — Paradeep —
Tuticorin — Ennore
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52. |dentify the correct sequential order of the
following states in terms of their total
geographical area.

(A) Rajasthan — Madhya Pradesh —
Maharashtra — Andhra Pradesh

(B) Andhra Pradesh —Madhya Pradesh —
Rajasthan — Maharashtra

(C) Maharashtra — Madhya Pradesh —
Andhra Pradesh — Rajasthan

(D) Madhya Pradesh — Andhra Pradesh —
Rajasthan — Maharashtra

53. Assertion (A) : West wind drift occurs in
all the oceans beyond 45° S latitude.

Reason (R) : There is very limited land
area in the Southern hemisphere beyond
40° S latitude.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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54. Which one of the following seaports is

the leading exporter of iron ore ?
(A) Kochi

(B) Mangaluru

(C) Paradeep

(D) Vishakhapatnam

55. Which is the major port under PPP ?
(A) Kandla
(B) Krishnapatnam
(C) Machilipatnam

(D) Nagapatnam

56. When relative humidity is 50 per cent and
air temperature is 30°C, a cooling of given

air mass
(A) Raises the absolute humidity

(B) Produces no change in relative

humidity
(C) Decreases the relative humidity

(D) Increases the relative humidity
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57. Wind blowing from horse latittudes to the
doldrums around equator are known as

(A) Trade winds
(B) Westerlies
(C) Jet streams

(D) Easterlies

58. The rainy tropical type of climate is
literally without seasons because of

(A) Small interdiurnal variation in
temperature

(B) Annual precipitation exceeding
1500 mm

(C) Convectional type of rainfall

(D) Constantly high temperature with
abundant rainfall well distributed
throughout the year

59. Solar ultraviolet radiation is absorbed by
(A) Exosphere
(B) lonosphere
(C) Ozonosphere

(D) Stratosphere

K-0815
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60. Which of the following sequences
represent correctly the different
atmosphere layers from the earth’s
surface ?

(A) Stratosphere — troposphere
tropopause — lonosphere

(B) lonosphere — troposphere

tropopause — stratosphere

(C) Troposphere — tropopause
stratosphere — lonosphere

(D) Stratosphere — troposphere
lonosphere — tropopause

61. Match List | wind with List Il region and
identify the correct answer using the
codes given below :

List—1 List —1I
(Wind) (Region)
l) Foehn 1) Sudan, Africa
[1) Chinook 2) South America
lIl) Haboob 3) Rocky
mountain
IV) Zond 4) Alphsin Europe
Codes :
I m v
A) 4 3 1 2
B 1 2 3 4
C) 4 3 2 A
D) 2 3 1 4
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TR0RTEOZ BEFAIT.

5889(R) : DG RAWE TRTTEOT SRS,
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(A) (A) 33y (R) 3o, R (R) RO0INT
QST

(B) (A) 2 (R) 3o, =53 (R)B0INT
20T )

(C) (A) Ro,=T3 (R) 3,

(D) (A) 2%, 5333 (R) 50

65. wé&’ IK’D wéﬁ IBRES B0l méo 3@@3

Nogf’éﬁ%ﬁ N@Oﬁfad Qﬂ)édﬁ?\b 308

wé\?“-l wé}a 1l
(Sdz3agm) (=3R)

) .28 BRIoBET” 1) SRS
pRNRS %xmd
m@ss ﬁ%ﬁo

1) 23 LewT® 2) zjaﬁrae%
TORTT W

) 85 DoedorFeds®  3) STes e
w@m% eTbéJ
zdrarirae%fam

IV) 5. 2. Bome* 4) 203@35;@5:3@
z;irarirae%fm:’i_y
S5) TOEFE TR0
R)CT%OS
Tode3ned ‘
| | m 1

A) 3 4 2 A

B 4 3 5 A1

C 5 4 1 2

D) 2 3 5 1
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62. Match List | with List Il and identify the
correct answer using the codes given

below :
List—1 List —1I
(Terms/Approach) (Author)
[) Isotropic 1) Harris and
Surface Ullman
I1) Functional 2) Shevky

Classification
[lI) Outlying CBD 3) Christraller

IV) Social Area 4) Morrill

Analysis 5) Aurousseau
Codes :
I o m v
A) 1 4 3 5
B 3 5 1 2
C 5 3 2 1
Dby 2 1 5 4

63. ldentify the correct sequence of countries
in steel production from highest to lowest
among them

(A) Japan — USA — India — China
(B) USA — China — India — Japan
(C) India — Japan — China — USA
(D) China — Japan — USA - India
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64. Inthe context of the two statements given
below, which one is correct ?

Assertion (A) : The layer of outer mantle
behaves like liquid.

Reason (R): The ‘P’ waves do not pass
through the outer mantle.

Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation
(B) Both (A) and (R) are true, but (R) is
not the correct explanation
(C) (A)istrue but (R) is false
(D) (A) is false and (R) is true

65. Match List | with List Il and identify the
correct answer from the codes given

below :
List-1 List—II
(Scholar) (Work/Achievements)

[) H.J. Mackinder 1) The Principles
of Human
Geography

I) G. Taylor 2) Influences of
Geographical

Environment
3) Geography
and Human
Ecology
4) Geography in
the 20" Century
5) Heartland
Theory

) E. Huntington

IV) E.C. Semple

Codes :

N O W -
W~ W s
o = 00N
= N =2 -
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R03e3RY0R RO0IRE SVITHR HTHER:

1) o) BTBNLY wIT> G cPFmoT),
STWT TowEeON FoPUTC FRTL
[UETHT OT LSOO TEFTRO.

2) @3 zjxar{rae%?mz’i_%da @’@’oﬁﬁ@ B3
%3;@3971%?\ QONERATIT.

3) NWHBTBNY W[ RPEBROND =02
@ommo’oﬁcﬁo eﬁﬂdo@gdom 50083’
TBEOTI0.

RoFCSNTL :

(A) 125832 =0
(B) 10233 %0
(C) 202370

(D) 3 =n3 o

67. INONY 30307 o’zﬁﬁcﬁod&q T 8T ORI,
52T SOoNY %mgboéd:% QeBTHID
[ovspleleintel

(A) BRET BROD,
(B) 2BEF s
(C) wdr=, wira®

(D) Qw07
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68. BoOFFCOT, WL EINY ﬁ@%e&ﬁ@b&q i@@i
QT 0R 035393033

A) BSFow Qg

@)

(A)
(B) @O@ESG wrﬁrmcger
(C) =°
(D)

D) woeF

69. 33 IIN ée@%n’@;’d& TONEIR, WO i@é%
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1) ¥ Begey wnds Je. 50T, AT
SV HROZT.

2) BWOFACID FOTWO W TWFRY,
wngY 25 WITAT,

3) WNET 2t FYTLO YUTTHOD Jesw
5.5 T 7=, 10es)) SRS,

RoFESNTL :

(A) 130832 %0
(B) 10233 %0
(C) 202370
(D) 3 &% =0

70. B3 IINTRNTE 0IRF)0 3E CeTeoNT ?
(A) Bonow
(B) Rn,TRRT
(C) Jez¥

(D) Rosees® & Waon®
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66. Consider the following statements and
identify the correct answer from the
codes given :

1) Aristotle said that people of cold areas
are courageous but lack in political
organisation.

2) Arab geographers divided world in to
ten Kishwaras.

3) Kant observed that inhabitants of hot
lands are lazy and timid.

Codes :
(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct
(D) Only 3is correct
67. The concentric zone theory of internal

structure of urban settlements was
given by

(A) Homer Hoyt

(B) Edward Ullman
(C) Ernest Burgess
(D) Chauncy Harris

K-0815

©

Total Number of Pages : 32

68. A scholar who developed the concept of
functional core areas is

(A) Derwent Whittlesy
(B) Andrew Burghardt
(C) Pounds

(D) Bull

69. Consider the following statements and
identify the correct answers from the
codes given :

1) China accounts for nearly 50% of
world’s coal production.

2) Germany is the 2" largest producer
of coal in the world.

3) India's share in the world’s coal
production is about 5.5%.
Codes :

A) 1 and 2 are correct

B
C

1 and 3 are correct

(A)
(B)
(C) 2 and 3 are correct
(D)

D) Only 3 is correct

70. Which of the following is a buffer nation ?
(A) Thailand
(B) Mynmar
(C) Nepal

(D) Sulthanate of Oman
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71. |dentify the correct West to East sequence
of hill stations developed by British

(A) Ninital — Dalhouse — Simla
(B) Simla — Dalhouse — Ninital
(C) Dalhouse — Simla — Ninital

(D) Ninital — Simla — Dalhouse

72. Assertion (A): Lorenz curve is a graphic
method of studying distribution.

Reason (R) : It is a cumulative
percentage curve in which percentage of
items are combined with other things.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

73. Inversion of temperature taken place
when temperature

(A) Decreases with increasing height
(B) Increases with increasing height

(C) Remains constant after 500 feet

(D) Decreases at a slow rate

Total Number of Pages : 32

74. Chorochromatic maps are defined as

(A) Map showing quantitative areal
distribution by shading or tinting the

areas

(B) Map showing non-quantitative areal

distribution by dots

(C) Map showing non-quantitative areal
distribution by shading or tinting the

areas

(D) Map showing distribution of rainfall

with temperature

75. The term city region was first used by

(A) Lewis Mumford

(B) R.E. Dickenson

(C) E.W. Burgess

(D) H. Hoyt
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